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1. In India, maximum number of workers are
employed in
(A) Textile industry
(B) Iron and Steel industry
(C) Petrochemical industry
(D) Automobile industry

2, Which organ of UNO is considered as
World Parliament?

(A) General Assembly

(B) Security Council

(C) International Court of Justice
(D) Trusteeship Council

3. The head of the Reserve Bank of India is
designated as the

(A) Chief Executive Officer
(B) Managing Director

(C) Chief Banking Officer
(D) None of the above

4. India started its Five-Year Planning with
effect from the year
(A) 1955
(B) 1951
(C) 1960
(D) 1965

5. The largest man-made canal in the world is
(A) Rhine Canal
(B) Panama Canal
(C) Suez Canal
(D) None of the above
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6. Disinvestment in Public Seciqr is called
(A) Liberalisation
(B) Globalisation
(C) Industrialisation
(D) Privatisation

7. Who built the famous Sanchij Stupa?
(A) Ashoka
(B) Chandragupta Maurya
(C) Ajatshatru
(D) Shashank

8. Who were the first to issue gold coins in
India?
(A) Shakas
(B) Hunas
(C) Cholas
(D) Indo-Greeks

9. Whicharticleseparates Jammu and Kashmir
from rest of India?

(A) Article 370
(B) Article 360
(C) Article 268
(D) Article 361

10. The Judges of Supreme Court take an oath
before entering upon office, conducted by
(A) Chief Justice of India
(B) President or Vice-President

(C) President or some person appointf:d
by him or her

(D) Prime Minister
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11. Ministers may be chosen from
(i) Lok Sabha
(ii) Rajya Sabha
(iii) outside the Legislature
Find the right answer by using the codes:
(A) Only (i)
(B) Only (ii)
(C) (i) and (ii)
(D) (i), (ii) and (iii)

12. Consider the following statements:

(I) 2G spectrum uses bandwidth of
30-200 KHz.

(IT) 3G spectrum uses bandwidth of
15-20 MHz.

(IIl) 4G spectrum uses bandwidth of at
least 40 MHz.

Which of the statements given above is/are
correct?

(A) All of these
(B) (1) and (II)
(C) (II) and (TIT)
(D) Only (III)

13. What is ‘Zero hour'?

(A) When the proposals of the opposition
considered

(B) When matters of utmost importance
are raised

(C) Interval between morning and
afternoon sessions

(D) When Money Bill is introduced in the
Lok Sabha

14. The largest flower in the world is
(A) Lotus
(B) Rafflesia
(C) Giant Cactus
(D) None of the above

15. Which of the following is a popular
programming language for the developing
multimedia web pages?

(A) COBOL
(B) Java

(C) BASIC
(D) Assembler
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16. "My Life’ is an autobiography of

(A) Dr. AP Abdul Kalam
(B) Dr. Rajendra Prasad
(C) Bill Clinton

(D) Hillary Clinton

17. The chemtcally inactive
atmosphere is

(A) nitrogen
(B) argon

(C) water vapour
(D) oxygen

gas present in the

;

18. The term ‘Congress' was derived from
(A) the history of North Amen-::a i
(B) Irish history
(C) British Commonwealth
(D) the name of the American Parliament

19. Whichof the following rocksis transfonneq
into marbel?

(A) Granite * (A)
(B) Limestone * ()
(C) Peat il
(D) Shale

20. Which of the following is ruspansthle ta:
the energy released by Sun?

(A) Fission . ’“_-
(B) Fusion (d)
(C) Chemical section ()
(D) Gravitational collapse (ch
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16. *My Life’ is an autobiography of
(A) Dr. AP.J. Abdul Kalam
(B) Dr. Rajendra Prasad
(C) Bill Clinton

(D) Hillary Clinton

17. The chemically inactive gas present in the
atmosphere is

(A) mitrogen

(B) argon

(C) waler vapour
(D) oxygen

18. The term ‘Congress’ was derived from
(A) the history of North America
(B) Irish history
(C) Brtish Commonwealth
(D) the name of the American Parliament

19. Whichofthe followingrocks is transformed
into marbel?

(A) Granite
(B) Limestone
(C) Peat

(D) Shale

20. Which of the following is responsible for
the energy released by Sun?

(A) Fission
(B) Fusion
(C) Chemical section
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21. Which of the following is not a source of
renewable energy?
(A) Hydroelectricity
(B) Solar energy
(C) Fuel cell
(D) Wind energy

22, Solar eclipse occures when
(A) Earth comes between Sun and Moon.
(B) Moon is at right angle to the Sun.
(C) Moon comes between Sun and Earth,
(D) Suncomes between Moon and Earth.

23, Which of the following is not a folk dance
of Himachal Pradesh?

(A) Dhaman
(B) Chhapeli
(C) Mahathu
(D) Dhakoni

24. Who was the first Home Minister of free
India?
(A) Sardar Vallabh Bhai Patel
(B) Mahatma Gandhi
(C) Jawaharlal Nehru
(D) Subhas Chandra Bose

25. The term “Sufi’ is derived from
(A) atype of poetry
(B) atype of garment
(C) alanguage
(D) the name of a place
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26. The vitamin which js
humans in urine is
(A) Vitamin A
(B) Vitamin D
(C) Vitamin C
(D) Vitamin A and p

27. Which falls down fastest
st in
feather, a wooden ball or g stee] ball;ﬂcuum_ a

(A) A wooden ba]]
(B) A feather
(C) A steel ball

(D) All of them with same speed

28. The Speaker of the Lok Sabha is elected by
(A) all the members of Parliament
(B) the people directly
(C) all the members of Lok Sabha

(D) the members of the majority party in
the Lok Sabha

29. The famous painting ‘Satyam Shivam
Sundaram’ was prepared by
(A) Mahendranath Singh
(B) Nand Kishore Sharma
(C) Sivnandan Nautiyal

(D) Raj Kapoor

30. Calcium content is maximum in
(A) Bajra
(B) Maize
(C) Sorghum
(D) Wheat
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31 Dialysis is used for people with defective 31. qfaw ﬁf@ﬁmm w1 SR TR I
kidneys. It involves the process of a1 70 | 2 offFI Sie AT
(A) adsorption (A) w{fmeme
(B) osmosis (B)
(C) eclectrophoresis N 5
(D) diffusion ©
(D) =gr#"
32. Which Scientist wrote a book called “A 32. o fre o R e ORIt gofh
Brief History of Time™? A )
(A) Stephen Hawking 5
(B) Edward Jenner (A) b
(C) Meghnath Saha (B) GBEUE ¥
(D) Pasteur (C) Graam A
(D) #ira
33. The first Lokpal Bi i ;
s e 33. 212 ettt Rt sieoitn Bergrem It Tl
(A) May, 1968 (A) @, 1968
(B) May, 1980 (B) =, 1980
(C) July, 1982 (C) H=11%, 1982
(D) June, 1985 (D) &, 1985
34. Which of the following is the oldest Trad SR
Union organisation of India? e o Wm@wwm ?
(A) INTUC 7 (A) TR B H
(B) CITU (B) Fi=izbes
(C) AITUC “(C) awEBITH
(D) BMS (D) & aw g
35. 2020 Olympic will be held in
(A) Japan 35. 2020 W= T 7
(B) London (A) =I*s-9
(C) Germany (B) F&"-9
(D) Rome (C) wrfiff-(=
(D) G@re-4
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36. Shanti Swarup Bhatnagar Award js 36, *f% FTe ©HASE Jw5ET
associated with (AY Cole ' A
(A) Sports A
(B) Science and Technology -8 .
(C) Agriculture © ?ﬁ
(D) Film (D) A%
37. 'Ghumar’ is a folk dance of 37. R GRS T
(A) Gujarat (A) ‘QWIW
(B) Punjab
(C) Rajasthan o o
(D) Tamil Nadu () S
(D) Sz
38. The first fully Indian Bank is 38, el ool Sre AE —
(A) Canara Bank (A) FEIE ART
(B) Punjab National Bank (B) =g sTE TEE
(C) State Bank of India ' (C) GO% e
(D) Central Bank of India (D) G AT &g Zfeu
39. Which of the following pairs belongs to the 39. A @ (TSl SIS e e fgE
category of cold-blooded animals? (A) e 7
(A) Birds and Monkeys (B) 3 @ o
(B) Snakes and Birds 8
(C) Frogs and Snakes (©) Tre 6 3
(D) Rats and Lizards (D) Z e firfife
40. Amnesty International is a 40, SRS ZHRAPEE T @35
(A) Human Rights group (A) FFaifas
(B) UN agency to fight global terrorism (B) fman# wgrram Grefem Afakre
(C) Refugee Camps in Croatia wifesirea AeE
(D) Branch of the World Bank (C) e ==zendi e
(D) el ayiema =i
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41. Whereisthe Indian Council of Agricultural
Research located?

(A) Dehradun
(B) Hyderabad
(C) New Delhi
(D) Itanagar

42. Troposphere is the hottest part of the
atmosphere because

(A) it is closest to the Sun.

(B) there are charged particle in it.
(C) itis heated by Earth’s surface.
(D) heat is generated in it.

43. In which field Pulitzer Award is given?
(A) Science and Technology
(B) Literature and Journalism
(C) International Understanding
(D) Environmental Studies

44. Which one of the following is the oldest
Grand Slam in the World?

(A) Wimbledon
(B) French Open
(C) Australian Open
(D) US Open

45. The first woman to scale Mount Everest

(A) Arati Saha
(B) Asha Agarwal
(C) Bachendri Pal
(D) Rita Faria

i

41. qﬁﬂmﬂﬁ@a@nﬂﬁmmwm?
(A) G
(B) &M
(C) waifafe
(D) TR5E

42. Qe FAWSTTR S e gy
(A) «ft Jrfa e |
(B) W%WWWJ
- (C) 96 +f2T= o w1 Bed 73
(D) 99 0 1% Sesm |

43. T THT @R CEE (rem T2
(A) fomm ¢ =xfs
'(B) A ¢ Higaifrarst
(C) wIwifes @mnerer
(D) #ifsra=fm

44, 5T @R [eva Tnm 2FF are FNe
e (A) TFEEH
(B) % arq
(C) SEaN oo

(D) 2T G SleAw

45, ET TOIEEs 691 e wEe e
J(A) =fE g
(B) Il S9RAGTE
C) IHH ~F
(D) faret wifea
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46. Summer Solstice in the Southern

_ 46. % (e g AREeA (S
Hemisphere occurs on
(A) 22+t fomm
(A) 22nd December
(B) 23rd September (B) 23 (1 G
(C) 2l1st June (C) 21 A
(D) 21st March (D) 21 ¢4 =6
47. Vande Mataram was first sung at the session 47. SEEE TIEM TTATE SEEHE AT
of the Indian National Congress in qwSTEay S e arafE
(A) 1886 (A) 1886
(B) 1892 (B) 1892
(C) 1896 () 1896
(D) 1904 /(D) 1904
48. Whatisthe minimum calorie intake decided 48, SISl ®1arE F I ] Al s
by the Planning Commission for rural and urban e 4T grean s a2 e
B’ o Biheai 5o (A) 24006 2100
an
(B) 2100 and 2400 (8) 2100 S 2400
(C) 2400 and 2200 (C) 2400°e 2200
(D) 2100 and 2200 (D) 2100¢ 2200
49. The most malleable metal is 49, FIHE TN 4P —
(A) Silver (A) ==t
(B) Gold - (B) G
(C) Aluminium ©) OR
(D) Sodium D) ;
50. First non-citizen to receive Bharat Ratna 50, ©rRTEy RS T GuN ¢ A9 OFTH
was CrtafRrE v
(A) Nelson Mandela (A) GFoP Sl
(B) Abraham Lincoln (B) iz fore
(C) Khan Abdul Ghaffar Khan (C) < SR TR <
(D) Mother Teresa . (D) TR O
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51. A General of an A wants to create a
formation of square from 36562 army men. Afier

.»4 ~ amangement, he found some army men remained
@ unused. Then, the number of such army men
remained unused was 3 —el %

(A) 36 Y &

W M (B) 65 “ . E Y

( \
L (©) 81 @ e gac
' Lk Ly kb
[

52. Aclassisdivided intotwosections A and B.
Passing average of 20 students of section A is 80%
and passing average of 30 students of
section B is 70%. What is the passing average of
both the sections?

(A) 2%
(B) 74%
(C) 75%
D) 77%

53. Ifthe average ages of Rakesh and Mohan is
15, average ages of Mohan and Ramesh is 12 and
the average ages of Rakesh and Rameshis 13, then
the age of Mohan is

(A) 16 years
(B) 13 years
(C) 14 years
(D) 12 years

54. The population of a city is 250000, It is
increasing at the rate of 2% every year. The growth
in the population after 2 years is

(A) 2500
(B) 10000
(C) 252000
(D) 10100

55. Inanexamination out of 480 students, 85%
of the girlsand 70% of the boys passed. How many
boys appeared in the examination, if total pass
percentage was 75%7? :

(A) 370
(B) 340
(C) 320
(D) 360

5 %
W7
,%? M"“ 1 I\L D-12
M (22N

51. 93&H GWILYE 36562 eWica R as
Fefaiot 410 2T 51 | 5169 212 o1 ol orre g
G TGS (AT (519 | HA%S CIeTa HS 9 2

(A) 36
(B) 65
(C) 81
(D) 97

52, 93l i A @ B 46 =i et e 2= |
A GEEE 20 5 wiega e =9 80% @92 B
G 30 B ot Ao 29 70% | 551 ReinTa
AT 24 T 7

(A) 72%
(B) 74%
(C) 75%
(D) 77%

53, I G (AT TS TT 15, @I G2
FTHTAT 1% T 12 935 A Q98 009 U079 51
Tl 13 =, S (iR O e

(A) 1633
(B) 13957
L€y 14 723
(D) 12957

54. 93 W7raa T 250000 | 2 387 2%
A I A | 2 TET R s 3% v 7@
(A) 2500
(B) 10000
(C) 252000
—D) 10100

55, 3 “AMFE 480 W T WY 85%
w8 932 70% T # I @ AR T 1R
75% T, TG O Adrw Sefgs fme

(A) 370
(B) 340
(C) 320
(D) 360
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56. AsumofRs. 300is divided among P, Qand
Rin such away that Q gets Rs. 30 more than P and
R gets Rs. 60 more than Q. Then, ratio of their
shares is

Lad

b L Ly La

-
s
.

®

w

"

.

LV, T S TR 5 T

(A)
(B)
(C)
(D)

LFELT R ]

57. Inaclass of 49 students, the ratio of girls to
boys is 4 : 3. I 4 girls leave the class, the ratio of
girls to boys would be

(A) 11:7
(B) 8:7
(C) 6:5
(D) 9:8

58. One-half of a certain number is equal to
65% of the 2nd number. Find the ratio of 1st to 2nd
number.

(A) 10:13
(B) 8:13
(C) 13:8
(D) 13:10

59. Asum was pul at simple interest atacertain
rate for 3 years. Had it been put at 1% higher rate,
it would have been fetched Rs. 5,100 more. The
sum is

(A) Rs. 1,70,000
(B) Rs. 1,50,000
(C) Rs. 1,25,000
(D) Rs. 1,20,000

60. Suresh borrowed Rs. 800 at 6% and Naresh
borrowed Rs. 600 at 10%. After how much time,
willthey both have equal debts? (atsimple interest)

(A) 15313'1'5.
(B) 14% yrs.
(C) lEé}'rs.

(D) 1e§ym.

D-13
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56. 30001 P, Q, R-97 Wr# a5+Tsird S1% a7
oFeTl 77, IS Q, P == 30 S @l #mm g9z
R, Q === 60 BrF caf#l ot | wrzrm T v

57. 49 T w9 fAf% 9wt =firs afm e
e TG 4 2 3100 4 e Afere =i car vE
T, Sige Qifasl @ AT wHre 39

(A) 11:7
AB) 8:7
(€) 6:5
(D) 9:8

58, It @b WiAe gww Aeme weds e
YA 65%-97 F1F | 4% @ FE AL weoffs
FEY

(A) 10: 13
(B) 8:13
(C) 13:8
~«D) 13:10

59, Reg #fawid Bt e iR @ == w
fafATemsr =1 == 3 2w ww | wf 1% @l o e
A TS SIWA 5,100 Ui Sfefae onen @) €3
wrefa o

(A) 1,70,000 Gi<st
(B) 1,50,000 5/
(C) 1,25,000 %r
(D) 1,20,000 b7

60. T 80011 4191 =3 6% W G2 A= 600
IR 417 T 10% 0 | 3 T SNE T 2
st s w0 73 2 (7 )

(A) 15%@.:

(B) 14%@
(©) 137}3@
(D) lﬁ%m
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61. A father is nine times as old as his son and
the motheris eight times as old as the son. The sum
of the father’s and the mother's age is 51 years,
What is the age of the son?

(A) 7 years
(B) 5 years
(C) 4 years
(D) 13 years

62. Before 7 years, the ratio of agesof Aand B
was 3 : 4. After 9 years, ratio of-theirages will be
7:8. The present age of B will be.

(A) 16 years |

(B) 19 years

(C) 28 years
(D) 23 years

tikimd ¢

My !

63. Acandoapiece of work in4 daysand B can
complete the same work in 12 days. What is the
number of days required to do the same work
together?

(A) 2days
(B) 3 days
(C) 4days
(D) 5 days

64. A does 20% less work than B. If A can
complete a piece of work in ‘.F-é— hrs, then B can do
itin

(A) 4 hrs
(B) 6hrs
(C) 8 hrs
(D) 10 hrs

65. X, Y and Z undertake to do a4 work for
Rs. 6,000. X and Y together do %uf the work and
restis done by Z alone, How much should be share
of Z?

(A) Rs. 1,350
(B) Rs. 1,200
(C) Rs. 1,500
(D) Rs. 1,450

61. (191 43 sz 07 9w @3¢ AefT W
T TR 8 ol | fofe & Trem TEE @l

51 %7 | *jra 45 Ty
(A) 793
(B) 5 Im
(C) 4927
D) 37Ea

62. 7 I%7 o4 A 93 B-97 00 ST fom
3:41 9 wA A S TR SHAE TA T - 8
B-97 9314 391 7

(@ﬁ 16 923

(B) 197z
(C) 28 957
(D) 23 3%=

63. A @ G 1% 4 Fire w900 At @9z B
mﬁwﬁmmmuﬁmmﬁmam
Frab Fae it of o 5ga g

(A) 2fam=
B 3w
(C) 4 Fm
(D) 5 fits

64. A, B 97 T 20% Ta Tw @) A A
I T 7% T (T 3, W B € el

(A) 49%
(B) 6%
(C) 8%%my
(D) 10 9%m

65. K.Y IR Z 6,000 0= G35 2ver 7wy
LR [P pen—— 2 e
mzmmmlmawﬁwmwmv

(A) 1,350 St
(B) 1,200 Brpt
4€) 1,500 Bre
(D) 1,450 Brast
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66. Alraintakesgsemnd
speed of the train is 48 |
train is

(A) 150 m
(B) 120 m
(C) 90O m
(D) 80 m

s:n Cross apole, Ifthe
vthen lengh of the

67. A 400 m long train takes g sec
man walking at 20 km/hr in the directi[;
to that of the train. What is (he speed o

(A) 20 km/hr
(B) 30 km/hr
(C) 15 km/hr
(D) 11 kmv/hr

0 cross g

N Opposite
f the train?

68. If the speed of a swimmer in stj|j water is
9 km/hr, find the downstream speed of the

swimmer, when the river s flowing with the speed
of 6 km/hr.

(A) 15 km/hr
(B) 18 km/hr
(C) 3 km/hr

(D) 12 km/hr

69. X covers 1 km in 8 min 40 sec while Y
covers the same distance in 10 min. By what
distance does X defeat Y?

1

(B) 133~§~m

©) 1332m
5

D) 133%:11

70. What will be the angle between the hands of
a clock when the time is at 4:40 p.m.?
(A) 120°
(B) 100°
(C) 110°
(D) 130°

D-15 McCcris

66. b G 9z A e ==2e 0 ires
3y 7y | AR G0 TS 48 kmvhr 23, S1rE (GAba
o a9

(A) 150 m
AB) 120m
(C) 90m
(D) B0 m

67. @3 400 m 7Y GF 36 CFE T A
Gl R A 4151 = 2ot afoe F0s, TA
512 o1 20 kmvhr | Tz GwiDA S F9 ¢

(A) 20 km/hr :
(B) 30 km/hr %
(C) 15 km/hr -
(D) 11 kmv/hr |

_(A) 15km/hr
(B) 18 km/hr
(C) 3 km/hr
(D) 12 km/hr

69. X, | km wfees 32 8 fi. 40 G 708 432
Y, €% 432 Ay Sieww < 10 ffd 1 X, Y &5
HACE * IS e ¢

1
(A) 133 m
@) 1332 m

3
©) 133%— m

D) 133% £l

70. SRS 4-40 pm 7 7 901 & AT $0
7o Efd @it tefd Tae
AA) 120°
(B) 100°
(C) 110°
(D) 130°

Please Turn Over
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71. TﬁeLCMnf!wonumbersisﬂTﬁwmif::lw 1. B RIR AL, 2376 @R A iha
HCF is 33. If one of the numbers is 297, tHER 1he | g3y 33 o e g7 0, W A
anulhnrnumhe;is {ﬂ) 216
(A) 21
(B) 264 "':Bi 0%
(C) 642 (C) 642
(D) 792 (D) 792
72. 12, 16, 32, 68, 132, 7 72. 12,16,32, 68, 132, ?
{fg; ;;’26 (A) 196
(C) 276 #0) 252
pas ¢ (C) 276
(D) 213

73. How many numbers

: between — 11 and |7
are multiples of 2 or 37 '

73. 119z 11 NG oAy 2213 gz

(A) 11 oftes?

®) 14 (A) 11
(©) 15 <B) 14
(D) None of the above © 15

(D) 9o s @miE o

74. What least number must be added to 1057

g 4. FEOR Az 1057-
(0 get a number exactly divisible by 237 9 AR 19 TS
(A) 1 Eﬁmmmwﬁmzzwﬁ@m@?
(B) 3 tA) |
© 2 ('fBJ 3
(D) 4 C) 2
(D) 4

75. Today is Monday. What wil pe the day

after 64 days? 75, W{W}WWR%MﬁﬂW@W
(A) Thursday " Ty
(B) Wednesday _ (A) F2ifeara
(C) Friday (B) T3z
(D) Tuesday , (C) v
" (D) TR

R e
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76. The m:a; temperatyre . D-17
b nesday was 37 o] ] : i
B e e om0 Tuesday ionday (o | 7GR (3 T3 15 Sl 37°C o |
- 45 that of Monday, Ure on Thypggy oL | oA (ST o 5
L r then the a4y was ﬁwngMMSE.
Thursday was Perature of : A Td l
(A) 35:5°C o T 1
(B) 34°C (A) 355°C
(C) 36:5°C (B) 34°C
(D) 36°C (C) 36:5°C
: (D) 36°C
2 2
. —of 1< of 75%of 540 -
33 ! 77. %..qzq 1%&?:?5%“540:?
(A) 378 o
(B) 756 )
5ién (B) 756
© (C) 252
(D) 332 (D) 332

78. ﬁ+%0f3ﬂ'=ﬁ{]x_é.+3

(A) 36864
(B) 46864
(C) 56864
(D) 66864

79. Which one among the following is the
largest?

A &

=2, then what is xequal to?

78. ﬁ...%m E{l:ﬁox%ﬂ

(A) 36864 _
(B) 46864 '
(C) 56864
(D) 66864

70, FrERoeke Wy G FI0E et
@ %
®) 1
© 3

®)

(A) 15
(Bl S=
(C) ==
(D) S

Please Turn Over
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81. A train covers 90 m in ?assing a standing
man. Find the length of the train.
{A) 20 m
(B) 87 m
(C) 7l m
(D) 90m

82. A man covered a distance of 12 km ip
90 min by eycle. How much distance will he cover
in 3 hrs, if he rides the cycle at a uniform speed?

(A) 36 km
(B) 24 km
(C) 30 km
(D) 27 km

el
el |

83. To cover a distance of 315 km in 28 hrs,
what should be the average speed of the car?

(A) 112:5 m/s
(B) 5625 m/s
(C) 62:5m/s
(D) 31:25 m/s

84. If speed of 3§l-mfs is converted to km/h,
then it would be
(A) 8 km/h
(B) 9 km/
(C) 10 km/h
(D) 12 km/

85. A ank can be filled by pipe X in 2 hrs. and
pipe Yin 6 hrs. At 10 a.m., pipe X was opened. At

what time will the tank be filled if pipe Yisopened -

at 11 am.?
(A) 12:45pm.
(B) 5:00p.m.
(C) 11:45am.
(D) 11:50a.m.

D-18

81. 3 G= oib wermm fere 74+ wfows
T C G Tl ey warg 00m | (GbE O
e =3

(A} 20m
(B) 87 m
(C) 7l m
(D) 90 m

B2. 9= =ifer 90 Rl iz vr 12 km %
T 3 | <t 3 9% of e A e wem
A 1 Az wsifers seme

(A) 36 km
(B) 24 km
(C) 30 km
(D) 27 km

83. 315 km ¥ SfeTw wae Tf 2.8 951 7w
e, Br stfefba o1 fe v feme
(A) 112-5 m/s
(B) 56-25 m/s
(C) 62-5 m/s
(D) 3125 m/s

84, 'ﬂﬁ3% m/s i emefe 7= 7w kivh @,
e ol e |

(A) 8 km/

(B) 9 km/h

(C) 10km/h

(D) 12 km/h

85, =0 Bt X 7ot 2 e ©f¥ = ez Y e

mﬁmfsﬁmwmmmx:ﬁmem
I Byrfs ©fE Twa @ e T Y w4 wem |

11 317 quferl =79

(A) 12:45 p.m.
(B) 5:00p.m.

(C) 11:45am.
(D) 11:50am.
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86. 3 men can do a piece of work in 18 days.
6 boys can also do the same work in 1§ days. In
how many days. 4 men and 4 boys together will
finish the work?

(A) 10days
(B) 6days
(C) 12 days
(D) 9 days

87. Ifcostof 15eggsis Rs, 75, then find out the
cost of 4 dozen eggs.

(A) Rs. 240
(B) Rs. 300
(C) Rs. 150
(D) Rs. 185

88. P,Qand R start abusiness, Pinvests 3 times

~ asmuch as Q invests and Q) invests %rd as much

as R invests. Find the ratio of capilals of P, Q and
R.

(A) 3:

(B) 2:

, (C) 6:
L (D) 5:

2:6
6:3
2:3
223

89. Jagatram, a milk seller has certain quantity
of milk to sell. In what ratio, he should mix water
to gain 5% by selling the mixture at the cost price?

(A) 1:10
(B) 1:5

(C) 1:20
(D) 1:15

1":1-]:.

90. Inwhatproportion mustagrocer mix wheat
at Rs.2-04 perkgand Rs. 2:88 perkg soas 10 make
a mixture of worth Rs. 2-52 per kg?

(A) 2:3
B) 3:2
(€Y 5:3
(D) 3:4

MCC/18
D-19

86. a5 (P11 CRRICAT e 77 1 8 e 7t 1 6
mmﬂmwmlsﬁtﬂmmwcﬁmmmdm
AT g W €2 D (T AL

(A) 10 fe
(B) 6
(C) 12 fa
(D) 9 fea

87. i tsm’@m:@mﬁﬁ‘ﬂ“’m
4 Go TS BT
(A) 2405
(B) 300 5t
(C) 15051
(D) 185 B

.";I"

88. P,Q 7t R 0% 20701 5% 474 | Q o oAt
Gfarst 303, P 7 3 of Rfmms a2 e R |

FefiEaet e Q O %'ﬂ:ﬁrﬁﬁmﬂmmqmr |
R-431 TFACAA CATS FT?
(A) 3:2:6
(B) 2:6:3
) 6:2:3
(D) 5:2:3

89, EIE, 9Few 1y e g AR vy
I IR &1 | I 1T & Gt i el
T BT 70 5% #rS wA e

(A) 1:10
B) 1:5

© 1:20
(D) 1:15

90. T 204 T1 2 ol e o R
2-B8 DIR¥1 2 iR e ot it ot et e

faférs s o cefir war 2-52 it 7
(A) 2:3
(B) 3:2
(C) 5 :3
(D) 3;;4
Please Turn Over
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91. Anita purchased a bicycle at a cost of
Rs. 3,200. She sold it at a loss of Rs. 240. At what
price did she sell the hicycle?

(A) Rs. 2,960
(B) Rs. 2.690
(C) Rs. 3.440
(D) Rs. 3,360

92. Gopal bought a cell phone and sold iy 1o
Ram at 10% profit. Then, Ram wanted 1o se it
back to Gopal at 10% loss. What will be Gopal's
position if he agreed?

(A) Neither loss nor gﬂil'l.
(B) Loss |% :
(C) Gain 1%

(D) Gain 0-5%

23. A shopkeeper allows a discount of 10% to
his customers and still gains 20% on cost, the
marked price of the article which costs Rs. 450, is

(A) Rs. 600
(B) Rs. 540
(C) Rs. 660
(D) Rs. 580

94. A dozen pair of socks quoted at Rs, 80 are
available at a discount of 10%. How many pair of
socks can be bought for Rs. 247 ‘

(A) 4
(B) 5
3
(D) 6

95. What would be the simple interest obtained
on an amount of Rs. 8,930 at the rate of 8% per
annum after 5 years? -

(A) Rs.5413
(B) Rs. 2,678
(C) Rs.3,572
(D) Rs.4,752

D-20

91. w3 a2ARram 3,200 5w T T |
1 AL 240 B13l (1o s avarer | v Bray
- W A ARl Rl sy
(A) 2,960 TR
(B) 2,690 Brem
(C) 3,440 5
(D) 3,360 Bret

92, cmﬂmaﬁmmamwmﬁml
10% =TS ffF @21 wraota 7w o2 el 109
T AT B warw 5%m, 3f oo oz
ﬂc@m@.wmﬁmmmmﬁ%m
m:{ﬁwqmr

(A) =18 21 (et g 2za =11
(B) 1% @i =t

(C) 1% == 7=

(D) 0-5% =rs 7=

93. »ﬂmmwwvfﬁmmgﬁ%%mm
ficre TryETe Bom 209% oe T @ oo

T 450 B, OFF 41 wrE T
(A) 600 =

(B) 540 Bren
(C) 660 or
(D) 580 Gl

94. &% GE (ST Gl S S5 80 Bret
10% FEsirD #1671 T | 24 Srem 77 (orte! Gt
&Y 9 WA?

(A) 4
(B) 5
(€ 3
(D) 6

95. 8,930 b1 A 8% et sy 2iva 5 7w
*9 (D Heel TH TS A T
(A) 54135
(B) 2,678 5
(C) 3,572 51
(D) 4,752 b
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96. Find the value of o6, T iy = ¢
1 2 3
999= 4 9993 4 5 6
9907+3957+9957 49993 19993 . 996 9991 +9992 19993 19997 +9992+9997
(A) 5997 A
B (B) 5979
(E] 3394 (C) 5994
(D) 2997 i (D) 2997 v
-
3.5 7 .
77. Enf € of_ﬁnf 1664 =7 97. % «aa %.g'g %Lﬂq 1664 =FS 7
(A) 648 o (A) 648
(B) 762 f (B) 762
(C) 612 ' 5 (C) 612
(D) 728 (D) 728

98. The least number which when divided by
4,6,8and 9leaves zero remainderin each caseand
when divided by 13 leaves a remainder of 1,is

98, @I+ Foaes RO T4 4, 6, 8 72 9 wra]
wi @l 70, afearg 0 W8 9 92 39+ 13 5

g olfl 731 =3 =ifersty 7 SR us
{B; ?2- (A) 144

- (B) 72

(D) 85 (36

(D) 85 |
N |

997 ﬁfaﬂ: U 4.9, 23| AeEmeFa wHre
W 132 : 37, wearaf fifa )
(A) 69, 15,22 '

99. The HCF of three numbers is 23, If they are
in the ratio of 1 : 2 : 3, then find the numbers,

(A) 69, 15,22

(B) 23,46, 69 (B) 23, 46. 69
(C) 25, 31, 41 (©) 25.31, 41
(D) 23,21,35

(D) 23,21, 35

100. The sum of place values of 2 in 2424 is 100. 2424 3e=fre 2.9 Fiem wmafa e

(A) 4 0 . W
(B) 220 ' (A) 4 H"
(C) 2002 - (B) 220
(D) 2020 LU @ 2002,
e

{[_J)' 'zﬂzq

g
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